BEXTILAR100F

LLE 1/2

:/_J: 9/27(x) 9/28 (H) 10/11 (%)
L B bt g *E
1R 2R 3R 4R SF F
1 1 il 29. (BERHKF)
2 BF 29. (EXHKF) I
2 bye
5 T B 3. (T. 0. P) 10:45 —
wF WE 16. (ELBEX) 9:15 11
4 IR %= B (FxU—) : -
IR FRL 23. (Fx—) 10:00
5 BE A8 21. (J3—-) ’
TEM ERF 19. GOETC)
6 bye
10:00
7 bye
1 3 8 AR EF 20. (AZER)
AR SIF 30. (FrL D)
12 g AEHBE 22. (JINE 1))
BAR BF 22. (UN\EY)
10 bye
10:00
11 bye —
12 —R —f 1. (F¥>RTC)
tH EF M. (F¥>RTC) 10:00
13 EE %Eﬁ 23. (7‘1 ')_) ’
g mRF 2. (FxY-)
14 bye
10:00
ﬁ 15 bye
8 % 16 B8 —% M. (F¥>RTC)
EiB BT N.(F¥YRTC) 9:15 I
4 *IJ 17 HiE Rk 08. GREAKTC) :
&5E BT 08. FEARTC)
@ 18 bye
TS LR e NCEDED 11:30
B3 BEHE 2. (Fz 1)) 10:00
20 2% & 08. GREAKRTC) )
T FPH 08. FHEAKRTC) 10:45
21 BH# BEA 17. (FLA LT C) '
B# &F 17. (FLA KT C)
22 bye
10:00
23 bye
14 24 AREH =% 01. (EREMKET C)
£ EHF 01. (EREMETC)
9 25 TS 12. F)#4>T1C)
o BF 12. (AUt TC) }
26 bye
10:00
27 bye
28 5% FHH 21. (Jy3—)
@k BEHE 22. (UNNEY) 10:45
29 tH % M. (F¥y>ATC) :
FH 50F 1. (F¥>RTC)
30 bye
10:45
31 bye
7 39 AR &— 28. (T-WACH)
W ES 28. (T-MACH)
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EBEATILRI00FLLE 2/2

—F 9/27(%) 9/28(8) 10/11(%)
& 5z B bt g x5
1R 2R 3R 4R SF
6 33 £k f 17. (FLA LT C)
HH ERF 17. (FLA LT C)
34 bye
10:45
35 bye
=% BE . (F¥2RXTC) 11:30
37 HHE E=X 18. (BMETC) ’
BEH ASHF 18. (EMETC)
38 bye
11:30
39 bye
‘I ‘I 40 P fB— 10. (V=—EX)
SH BF 10. (V=—FEX)
1 5 41 AFH EsA 01. (EREMKET C)
aH €OF 01. (EREFMETC)
42 bye
11:30
43 bye —
44 MHE EHE 21. (J3—)
HEA KT 06.(L T ©) 11:30
45 EiES M. (F¥>XTC) ’
A HEF M. (FY>RXTC) 11:30
46 BFiR B 30. (FrL ) )
BHR HH 30. (Fr L) 13:00
ﬁ 47 bye
3 % 48 A FEA 26. (FTC HNE)
T WF 26. (FTC FHODE) 9:15 11
5 *IJ 49 R N 28. (T-MACH) ’
FH IEF 28. (T-MACH)
@ 50 bye
11:30
51 bye
52 PE REB 30. (FrL )
PE FTEF 30. (FrL D) 11:30
53 =2 B 18. (BMETC) ’
RE T 18. (EDETC)
54 bye
11:30

55 bye
‘I 0 56 IMNE —BE 15. (AETY)

MR HEY 15 (BETY)

16 57 b EiE M. (F¥2XTC)
ik B 1. (F¥YZTC) }
58 bye
12:15
59 bye
60 2R B 15. (BETY)
Btk HF 26. (FTC FHNDE) 11:30
61 28 B 19. (ZDETC) ’
A= E S 19. ZROETC) 11:30
62 AR EX 15. (BETY) )
B|AFIT 30. (Fr L) 13:00

63 bye
2 64 A =58 23. (Fx)—)

D BEF 2. (Fx 1))
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